



**Решења:**

1. 44                      36                      42

2.  $4 + 12 \cdot 3 = 4 \cdot 36 = 40$   
 $(4 + 12) \cdot 3 = 16 \cdot 3 = 48$   
 $(26 - 8) \cdot 3 = 18 \cdot 3 = 54$   
 $26 - 8 \cdot 3 = 26 - 24 = 2$

3.  $(5 + 12) \cdot 3 = 17 \cdot 3 = 51$   
 $22 + 12 \cdot 4 = 22 + 48 = 70$   
 $68 - 7 \cdot 9 = 68 - 63 = 5$   
 $6 \cdot 9 - 49 = 54 - 49 = 5$

4.  $13 \cdot 5 - 50 = 65 - 50 = 15$

5.  $22 + 7 \cdot 8 = 22 + 56 = 78$

6.  $8 + 3 \cdot 8 + 3 \cdot 8 - 3 = 5 + 48 = 53$